asym_sam?2

asym_sam4

asym_samb6

asym_sam3

run7895 000 r

di

E
%
%
g
E

(m _ i — 251
- x 12( -
20000 20000
| —|10C [ —ap
10000 10000 |
[ —a0¢ |
[ . —{15¢
= ok
= ﬁ.l}l: L
i - 106
10000 400 10000
[ i 50
20000 20( 20000 |
_III|III|III|III|III|III|III|III|III|III D _III|IIIIIIIIIlIIII|IIII|IIII|IIII|IIII|IIII|I ﬂ
-100 -B0 -B0 -40 -20 O 20 40 60 80 100 20 -15 =10 -5 0 5 10 15 20
diff_bpmXum diff_bpmdaYium
d. d'
- — —{100 - — —og(
20000 :—. 20000
15000 15000 |
- —l80C = —{z0c
10000 10000
5000 [ —laor 2000 = —15(
o o
-5000 400 ~5000 | 100
10000 10000
15000 [ 20( 15000 | 50
20000 | 20000
:III|III|III|III|III|III|III|III|III|III D :III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I ﬂ
100 -B0 -BO -40 -20 O 20 40 60 8O0 100 23 -15 -10 -5 0 5 10 15 20
difi _bpm1Xum difi_bpmda¥ium
! * [bf 'l-
- —70c n
8000 8000 EE EE —|25(
000 —[60t 000
- n —{z0c
4000 o 4000 |
2000 2000
n n 15(
o o
~2000 — - 2000 :— 100
4000 | 20 ~4000 |-
-6000 | 6000 50
C 100 C
-spop M 8000
G b b b b beea v b braa b o Do bbb b b b v b b 0
100 -B0 -B0 -40 -20 O 20 40 60 8O0 100 30 -15 -10 -5 0 5 10 15 20
diff_bpm1Xum diff_bpmdaYium
! . [bf -
- —— —12¢ i
[ . —25¢
2000 N o 2000
- - —{z0c
1000 [ i P 1000
. . —{15¢
o o
1000 [~ 1000 [~
~2000 [~ ~2000 [~
-:'H}DD _I 11 | L 11 | 111 111 | L1 111 | 111 I 111 | 11 I | | I i

=100 -80 IE-[?— =20 20 40 60

3000

CEFESSh RS VI SARDAGE:

di

d

m [ m
i n —12( i 1 —ag5(
20000 - 20000
- —10c -
. . —apr
10000 - 10000 |
i —{ 800 [ =
. . 150
= ok
. . 100
10000 - 10000 |-
l l m
[ i .
- - 50
20000 20000
[ | m =
_IllIII|IIII|IIII|IIII|II _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII D
~100 50 ) 50 100 20 =15 =10 -5 0 5 10 15 20
difi_bpmdaX/um difi_bpmdaYium
" —10c - —
- - —a5g
20000 | 20000
15000 | oo 15000
- - —201
10000 10000
5000 5000
. —60C . —{15(
oF of
10000 10000
15000 | 15000 50
20000 [ 20000
:IllIII|IIII|IIII|IIII|II :IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII D
100 50 ) 50 100 30 -15 10 -5 ) 5 10 15 20
difi_bpmdaX/um difi_bpmdaYi/um
diff _ diff _ hpmélcY
" —laoc "
8000 - 8000 - —2st
N —{ 700 n
BOOD [ BOOD
N —G0 N — 200
4000 4000
2000 - 2000
- - 150
o 400 o
~2000 300 ~2000 100
N R |
4000 - 4000
- 200 n
6000 6000 [ . 50
- 100 -
~gooo (M -8000
C ol v v v v g b v g a b v v bag 0 G e b bora b bvnaa v b o
~100 50 ) 50 100 30 -158 -10 -5 ) 5 10 18 20
difi_bpmdaX/um difi_bpmdaYium
diff _ diff_bpmdeY
| I |
N | = 1
. —12¢ i 25(
2000 |- 2000 |-
i —16c [ —{20(
1000 1000
N — 800 =
[ i 150
= o
. 60C [
: : 10
~1000 ~1000
- mt -
~2000 | 200 ~2000 |- 0
i _|||I|IIII|IIII|IIII|IIII|IIII|IIII|IIII

diff bpm=COL

15 10 -5

" postpan.png

i n
- n 1
20000 e
10000 i
D_
10000
. m
- 50
20000
: |
III|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ
150 -100 <50 O 50 100 150
diff_bpm12X/um
d'
- —
20000
- —{z5¢
15000 [
10000 — —=p0
5000 —
o
~5000
10000 — "
- B
15000 — o
20000
:III|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ
150 -100 -50 O 50 100 150
diff_bpm12X/um
l-
- —30(
8000
- —{z5¢
BOOD
4000
- —{z0c
:l
200 =
o
~2000
—4000 |
6000
~8000
Cro ol bbb oo b oo b
150 -100 -50 O 50 100 150
diff_bpm12X/um
-
| _
i —25(
2000
i —20(
1000
o
1000
- W
~2000 — . a0
III|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ

=150 -100 -50 0 50 100 150
diff_bpm12X/um



reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

run7895 000

diff _
_bpmlX
2500
2000
1500
1000
500
0
=500

=1000

=1500

~2000 II|III|III|III|III|III|III|III|III|III

=100 =80 -0 40 =20 0 20 40 60 80 100
diff_bpmXum

1500

1000

500

1]

=500

=1000

=1500

=2000

-2500

E'DDD III|III|III|III|III|III|III|III|III|III
=100 -80 -60 40 -20 O 20 40 60 8D 100
difi _bpm1Xum

di

i [ |

B [ |
1000 — u i

- = -
500 - u

-l [ |

[ =

ﬂ_

B |
=500 —
1000 —

B |

i n n

ol b bra bean beoa bvra Lo baeaa b

-100 -80 -60 -40 -20 0O 20 40 60 80O 100

diff_bpm1Xum

400

a5(

300

25(

200

150

100

a5(

a0c

250

200

150

100

a5(

a0c

25(

200

150

100

| —
aoo - 23(
[ 200
| =
1 ;mn: 18(
| [ 160
To00 -
E' - 140
ﬂ:— -
100
- N
~200 mEm
B [ |
- [ |
-:mn: .-l 50
-I 11 | L 11 | 111 | 111 | L1 11 | 111 I 111 | 111 | | D
100 B0 -0 -40 - ‘n 20 40 80 100

regression reg

diff_bpmdeY

~ ] [~ —{400 B _|
2500 n 400 2500 2500 m 400
2000 - —agr 2000 —135L0 2000 - —lagr
- | | - -
1500 :— —aoc 1500 :— —anr 1500 :— —anr
1000 1000 | 1000 |
- —25( - 25 C (25t
500 - 500 ' a0t 500 C B
~ 200 ~ B 200
Iy oy 0 " "
3 15 - 150 = 150
=500 n =500 n =500 - -
C m C .
-1000 10( -1000 10( ~1000 10
- - - = m
- C = C n
—1500: ‘ .} 50 —1EDD: 50 —1500: [ ] . 50
- N E n C [ | H [ |
2000 _— =2000 — =2000
||||||||||||||||||||||||||||||||||||||||II|I ﬂ |||||||||||||||||||II|II ﬂ ||||||||||||||||||||||||||||||||||||||| D
20 =15 =10 <=5 (1] 5 10 15 20 =100 =50 1] 50 100 =20 =15 =10 =5 (1] 5 10 15 20
difi_bpmdaYium difi_bpmdeX/um difi_bpmdeY/um
l L 1 lji I l
- — : :
- B - - —agr
1500 35( 1500 |- —a5( 1500 |-
1000 |- i 1000 F- I' aoc 1000 |- —lapr
500 . 500 500 0
. - - —a5( - —25t
0 0 0 u
~ ~ B 200
~500 & 20 -500 200 500
- m L - n
- | - N
1000 | 150 1000 15¢ ~1000 - 15(
~1500 -1500 -1500
- . 1o . 10 : - 10
=2000 — u =2000 — u =2000 u
- 50 - 50 n 50
=2500 — [ =2500 — [ =2500 ]
_:H}DD:||||IIIIIIIII|IIII|III|||||||||||||||||||II|I ﬂ —E'DDD:IllIllllllllllllllllllll ﬂ :H}DD_Illllllllllllllllll|||||||||||||||I|||| D
20 =15 10 =5 (1] 5 10 15 20 =100 -850 1] 50 100 ~20 -15 =10 -5 (1] 5 10 15 20
difi_bpmda¥ium difi _bpmdeXsum diff _bpmdeium
diff _ diff _ diff_bpmdeY
- - —35( i Nt
i n i i n
1000 — .. —300 1000 — 1000 — ..
I I ape I —130(
[ [ - [
. —25¢ . .
SO0 500 | —lagr oo H B —25(
- _. -
- i _
- —20( - -
| u 200 B
o W o o
| | B [ |
i 15 i 15¢ i
=500 =500 — I =500 — [ |
. 10¢ - 100 .
=1000 — 50 =1000 — 50 =1000 — I. 50
[ | n [ - ] u
ool b b b b oo b L L 0 1 L 11 0 o b b b b Lo b o
20 =15 10 =5 1] 5 10 15 20 =100 100 20 -15 =10 -5 (1] 5 10 15 20
difi_bpmdaYium difi_bpmdeX/um difi_bpm4aY/um
diff _ diff _ diff_bpmd4eY
B B —24( B
300 — 300 [ —{zo 300 [ —25[
- —25( - -
[ N — 200 i
| 200 - | 200 - | 200
\ - : N —{180 ~ s —200
I B —20C | B | B
Y100 R —|16( RTI
N N —{14( [
B 15( " B 1
°F °F = °F
100 - ot 100 [ 100 [ 100
200 oo0fF ™ ~200 b
i 50 i B
-300 - -300 -300
B |||||||||||||| B |||| -|||||||||||||||||||||||||||||||||||||||

saniz a6

~vs diff "Bbm-

LLZ postpan:png

2500
2000 F
1500
1000
500

]
~500
-1000
-1500

u |

: . = =
~2000 |

I|IIII|IIII|IIII|IIII|IIII|IIII|II

-150 100 =50 0 50 100 150

diff_bpm12X/um

l-

: —jas(
1500

- —{30(
1000
500 —a5(

0F m
_sop - ™
-1000
-15nn;— N
-2000 -

- LX)
—EEDU:— [
_‘.}DUU:III|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ

~150 100  -50 0 50 100 150

diff_bpm12X/um
diff_ bpml2X

B ]

- m —{a0(
1000 | mg® " m

i |

i —{25(
500 —

i — 200

D_

T 0=

| mm
~500

. m
-1000 -..-

| m

b bbb aaa g 0

~150 100  -50 0 50 100 150

diff_bpm12X/um
d'

- —24(
300

N — 220
|E{}D:— —{ 200
. - —{18(
| -

of

- H

B [

-100 -

200 ™

-300 - u
N e 20
-III|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ

=150 -100 -50 0 50 100 150
diff_bpm12X/um



asym_sam?2

asym_sam4

asym_samb6

asym_sam3

run7895 000 re:

20000

10000

10000

20000

91

20000

15000

10000

5000

=

=5000

10000

15000

20000

L v2 / ndf 58.12 / 42
B i

— s

i N p0 3.218 + 5.324
- 1_“.

- - p1 —260.5+ 0.3
o 4,

i R

—| | | | | | | | 1 | | | | | | | | 1 | | I

100 =50 (1] 50 100

iff_bpm1X

SRR %2 I nat 41.12 /42
T

B Hﬂ‘x p0  —0.09832 + 6.14156
p1 —221.9+ 0.3
= S

- e

:| | | | | | | | 1 | | | | | | | | 1 | _I I

100 50 0 50 100

diff_bpm1X

}: { nat 43.51 /42
-|- -
p0 —0.02908 + 3.44366 o +
1-|-+
o
p1 B3.74+ 017
2000 -
0
~2000 |
-4000 |- £
" o
[ +
-goon | it
N
8000 [~ -
« IR B B B N B |
~100 50 0 50 100
[ E { ndf 56.65 /42
L F_FI-
2000 *.
i ., p0 0.1738 £ 0.6074
1000 pi -27.46 +0.03
ﬂ -
1000 |-
i T
_2000 .
- t
: 1
‘l | | | | | | | 1 I | | | | | | 1 | | I
100 100

diff_bpmdaY

10 | - %2/ ndf 26.51/38
oo - - - | p0  -70.55 + 36.54
i M{H p1 _402.2 + 9.1
5000 - 1 Hﬁ’r
oF
-5000 #%H« ]
10000 |- i
15000 ;ﬂ|||| pelov b b beron b b b b
20 -16 -10 -5 0 5 10 15 20
diff_bpmd4aY
sooo |- %2 / ndf 27.18/ 38
6000 p0 -62.65 + 32.98
4000 |- D1 _22.41+8.18
sp0 -
- }WWW Hil
o -1 ¥ {} i
~2000 |- | ]
-4000 | -
-6000 |-
_B.DDDEl-lllll|||||||||||||||||||||||||||||||||||||||
30 15 -10 -5 0 5 10 15 20

dlthpmAaL

¥2 ! ndf 26.43 / 38
p0 2267 +11.53 %
+ -
o1 183+ 2.9 gN
oF
= 2000 }' i hﬁ#
I 'ﬂ
-4000 = _ )
—ﬁﬂﬂﬂg}
_|||||r|||||||||||||||||||||||||||||||||||||||
-0 =15 =10 =5 1] 5 100 15 20

diff
1500
1000

500

=500

=1000

Lt

~1500 kel

_bpmd4aY

: ¥2/ndt  26.29/38

00 -7.873 + 3.926

h M“V 01 3473 + 097
| thr

-2

am2468° vs diff”

2ressmn asym sam

%

_bpmdeY

2 | ndf 37.31/38
p0  -78.67 + 36.34
pi -491.8 + 105

20 =15 =10 =5

—_—
1

_bpmdeY

T

0

5 10 15 20

%2 / ndf 38.15/38
p0 -68.28 + 32.98
p1 -51.74 £ 9.48

E ' ¥= [ ndf 42.36 / 41 15000 :—
20000 - -
B "y + B
: . p0 4.425 £ 5160 10000 |- -
10000 |- ; p1 -219.4+02 -
- 5000 | -
of- o
A ~5000 [
10000 -
- %, 10000 [
20000 |- e Z
- t-- 18000 |-
H | I I . | 1 1 1 1 | L 1 1 1 | L 1 1 1 | L 1 u
100 50 0 50 100
diff_bpmd4deX diff_
R %2 ndf 38.67 / 41 X
F 8000 |-
15000 h, -
- . PO 0.2856 * 6.2552 co00 |-
10000 | § -
- p1 -186.7 £ 0.3 4000 |-
5000 C
- 2000 |
o N
: of
~5000 -
- 2000 |
10000 . -
- - ~4000 |
15000 | q*}M -
: t ~6000 [
20000 - -
:| 1 I L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | ] 1 _I 111
100 50 0 50 100

diff_bpmdeX

72 ndf 42 84 7 41
p0  —0.7857 £ 3.3464 +ﬂi1+ _'
+-H-
p1 70.63 £ 0.14 i
2000 |
op
~2000 |
4000 - :
B ot
N F
_gonn = +++++
I
~8000 -
o HN T N NN T N N N T O O A A O O
=100 =50 1] 50 100

2000

1000

=1000

= 2000

=
IIIIIIIIIIIIIIIIIIIIIIIIIII

2 { ndf
p0

pl

20 =15 <10 =5

diff_bpmdeY

0

x2/ndf  3533/38
p0 25.7/4+11.45
p1 218.3+3.3
of
i ;
- 2000 ]l f
C i
[ 4
4000 |
= 6000 }' |*

5 10 15 20

20 <15 <10 -5

9-.

42.99 / 41

0.3409 = 0.5642

-23.15 £ 0.02

1500

1000

“bom-fit

500

~500

= 1000

=1500 7

iff bpmdeY

0

5 10 15 20

%2/ ndf 40.8 /38
p0 -8.606 £ 3.913
p1 -42.36 £ 1.12

-2{)

- POS

tpan.png

dlthmeZL

2 /ndf  56.01/42
p0  —66.6 + 295 H{ ]
it
p1 94.88 + 0.82 g
5000
-EI}DDf—
- t
10000 — *
- “M
15000 = '
_IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

=150 =100  -50 1] 50 100 150

diff_bpm12X

]l i
83.15 + 0.69 o w

¥2/ndf  52.69/42
p0 —57.5+25.0
p
o
5000 :—
10000 [

=
:

4000

2000

= 2000

=4000

= 6000

=180 =100 -50 1] 50 100 150

i 1 ¥ / ndf 51.41/42
:_ q H{-H_| p0 21.43 £ 10.16
:_ - p1 -29.52 + 0.28
: gt

- #“H

;]I v b b b s b Iy ||?| 11

=180 -100  -50 1] 50 100 150

dlthpmlzL

¥2/ndf  58.18/42
p0  —7.299 + 3.209 + # _
p1 9.594 + 0.089 gﬂm
500 —
of
—5&0;—
~1000 f— { +J[H'H
=1500 ;— ) 1+}

=150 =100  -50 1] 50 100 150



reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

diff bpm1X

diff_bpmdaY _

7=/ ndf

po

41.23/38

—-0.9886 £ 2.2799

diff_bpmdeX

diff_bpmdeY

diff_bpm12X

1=/ ndf 50.27 /42
p0 -0.8603 £ 2.0864
p1 0.1888 = 0.1231
— -
F
=500 :— H |
=1000 o
=1500 :|' (AN T TN N AN T TN NN N A T TN TN AN T SN M
=100 =50 0 50 100
diff_bpmlX
i 72/ ndf 41.83 /42
1000 —
- p0 3.611%2.290
500 B pi —0.0105 £ 0.1295
ol HJHMFWW *M
-500 _— }
=1000 _—
ol T N TN W N TN MO TN NN TN N TN MO A NN N A
=100 50 0 50 100

;

p1 0.3876 £ 0.5729

Wﬂw I

=

~ 400

- 600

- 800

=1000

=1200

||||||_|||||||||||||||||||||||||||||||||||||||
-20 =15 =10 =5 0 5 10 15 20

°1

iff bpmdaY

[ w2 [ ndf 35.79 /38
41}[]_—
[ po 1.912 £ 2.435
EDD_—
- Ml —-0.1599 + 0.6056
o m%‘rﬁﬁw i
It H«_I
-E{:ID_—
-mn:— __
-EEID:—
-EH}D_— _
_III|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|I

20 <15 10 -5 1] 5 10 15 20

diff_bpm4aY

E ‘,:{ ¢ naf 39495/ 42 i _ ‘,:{2 { naf 30,771 38
GO0 — :
- pO 1.725 + 1.362 ook pO 0.3302 + 1.4316
400 — ) B
- p1 —0.03854 + 0.07608 : « p1 —0.09853 + 0.3611
200 — ] o I r{'ﬁ‘h&ﬁdm T ] |‘ |
= +M{M# ‘ - M‘
i Wﬂﬂ f w' -
R =200 —
=200 — ] B
_400 | - - -
- - 400 —
_ﬁ,{}n:— i
i el -
800 o v v v v b by c b bevre by b b v beva Fvraa
=100 =50 i 50 100 =20 =15 =10 =& 1] 5 10 15 20
diff bpmlX = diff_bpm4daY
%2 / ndf 50.44 / 42 %2/ ndf 40.7 /38
100 N
pod 0.1889 £ 0.4764 i pO —0.06358 + 0.48422
oo -
p1 0.0183 = 0.0248 B p1 —0.02167 £+ 012118
S0 * - - [}'PL T
. m } ] n: f H*#ﬁprm‘r*ﬁ% ﬁm |
oF [ty - j
- MM ki * a0
-50 - |‘ |
_1{;.05— | -1DD:—
150 F B
: 150
- 200 :— i N
N ! | 11 i

sression Tes sanid468 Vs

run7895 000 reg

%2 { ndf 30.27 / 41
p0  -0.7156 = 2.0857
p1 0.1111+ 0.1037 -

- |

°F {{Wﬂ“‘"’“’w e ”"'*“'HﬁH{[j |
-EDDf— -
-mnnf— { _
=1500 E—
—EDDD:—..|....|....|....|....'|..

=100 =50 0 a0 100

diff_bpmd4eX
- +2 | ndf 45.1 [ 41
1800 N
I n0 3.465 + 2.291
1000 N
- pl  —0.0495 + 0.1092
500 |- | } }
o [[4 [t '
: t
-500 | }
~1000 | -
_15[:“:' __l 1 I | I | | L1 1 1 | 11 1 1 | 11 1 1 _l 11
=100 =50 ] 50 100
diff_bpmdeX
8O0
B ¥ { ndf 40.23 ] 41
600 -
5 { pO 1.823 + 1.361
400 o
- pl  —0.05923 + 0.06408
200 :— k ‘
n:— 1 }H#Wﬁ#wm
- t
=200 N _}
~a00 | -
-600
o T T N T N T T N T O A N N N O O O
=100 =50 1] 50 100
diff bpmdeX
¥ | ndf 37.44 | 41
PO 0.2181+ 0.4769
p1 0.01316 + 0.02105
50
I R
| F st |
~E0
100 I
150
oo |-

%= [ ndf 4711738

p0 —-0.8031zx 2.2802 )

p1 0.3642 = 0.6633 ’k -

b el
200 |-

—lifl}[:lf—

-ﬁunf— -
-amf—_
'“}DU:_|||||||||||||||||||||||||||||||||||||||

20 =15 =10 =5 0 5 10 15 20

91

iff _bpmdeY

sof - %2 / ndf 37.68 / 38
600 — p0 1.926 £ 2.437
ool - pl  -0.3181£0.7016
zm:uf—_ } B
of | MMMM* -
-E{}Df— { | H_
—4{?[:!5— -
:||||I||||I||||I||||I||||I||||I||||I||||

20 =15 <10 =5 0 5 10 15 20

iff bpmdeY

91

2
300 !/ ndf 41.41 738

200 po 0.3748 £ 1.4312

100 pi -0.1533 £ 0.4180

e WH |

=100

- 200

=300

- 400

~500

_|||||||||||||||||||||||||||||||||||_||||
20 =15 =10 -5 (1] 5 10 15 20

diff_bpmdeY

¥2 { ndf 39.94 / 38
pO —0.01387 = 0.48401 _
p1 0.0689 + 0.1398 - -

ja ) |

1
_—
f— —
—__
—
+
-
e
[ T—

=100

2
IIIIIIIIIIIIIIIIIII

-1ED—r||||||||||||||||||||||||||||||||||||||

-1 =10 -5 20

diff “bpm-fit postpan.png

¥ ndi 34.63 / 42
p0 —0.8B328 + 222398
p1 0.002255 + 0.066691
200 -

o } WWWW#]LHH i
200 | { H
~400 | * }
~B00 [~
_'B.DD‘I‘_II_Il|||||||||||||||||II|I|||||||||||

=150 =100  -50 1] 50 100 150

diff_bpm12X

- 600

- 800

- 2 ! ndi 37.68/ 42
600
: p0 2.925 + 2.388
400 —
- H pl  —0.02064 + 0.07056
200 |-
200 }
S |

=180 =100 -50 1] 50 100 150

diff_bpm12X

¥/ ndf 33.92/42

=1000

p0 0.8937 + 1.4095

p1 0.001638 £ 0.041577

100

1]

=100

=200

%

=300

-400

IIIIIIIIIIIIIIIIIIIIIIIIIIIIII
e

e e v v v b b bevna ban i Ly
=150 -100 =50 0 50 100 150

%
E

i 12 J nef 32.11 /42
50~ no 0.0287 + 0.4817
- H\ ' pl  —0.005091+ 0.013765
D_
|}|HT'W+'”" e
i '“1' ||'|||
_5p- + {
-1{:0_—
—15D_—
_II-IlIIII|IIII|IIII|IIII|IIII|IIII|II

=150 =100  -50 1] 50 100 150



asym_sam?2

asym_sam4

asym_samb6

asym_sam3

run7895 000 r

20000 —

10000 —

10000 —

20000 —

-100 -80 -60 -40 -20 O 20 40 60 80 100

diff_bpmXum

d I'
20000
15000
10000
5000

1]

=5000

10000

15000

20000

-100 -80 -60 -40 -20 0O 20 40 60 80 100

difi _bpm1Xum

20000 —

10000 —

10000

20000 —

20 -15 -10 -5 0 5 10 15 20
diff_bpmda¥ium

20000

15000

10000

2000

=5000

10000

15000

20000

20 <15 10 -5 1] 5 10 15 20
diff_bpmda/um

20000 —

10000 —

10000

20000 —

~100 _50 0 50 100
diff_bpmdeX/um

=5000

10000

15000

20000

=100 -50 1] 50 100
diff_bpmdaX/um

L] I L ] l]i L]
| I L | —

8000 - 8000 [~ 8000 -

000 000 000

4000 [ 4000 4000 [

2000 2000 2000

oF oF oF

-2000 ~2000 ~2000

~4000 |- ~4000 [ ~4000

-6000 | 6000 ; ~6000

~BO00 :— ] -B000 :— ~BOOD :—

NN RN NN NN RN RN N RN FEN A RN EEN oo b b b b b b b by NN N i I A B
=100 80 -80 -40 20 O 20 40 80 B0 100 20 =15 10 =5 1] 5 10 15 20 =100 -850 1] 50 100
diff_bpm1Xum diff_bpmdaYium diff_bpmdeXium
[ ] L 1 [ ]
| I | I | I

2000 2000 2000

1000 - 1000 |- 1000 -

i o o

=1000 — =1000 N = 1000 N

2000 — w 2000 N 2000 N

el b b e b b by s ey
MDP1QD 80 - ‘] 20 40

estession asym sam2468° vs diff’ bpi=

mmﬂﬂsca

20000 —

10000 —

10000

20000 —

1111 | 1111 | 1111 | 1111 | 1111 | 1111 | 1111 I 1111
20 -15 -10 -5 0 5 10 15 20
diff_bom4eY/um

20000

15000

10000

5000

=5000

10000

15000

20000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

oty b b b s by by b
-15 =10 -5 0 5 10 15 20
diff_bpmdea¥ium

diff_bpmdeY

8000

|
ma
==

6000

4000

2000

= 2000

=4000

= 6000

= 8000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

el bvvrr brrrr brvra v berra b
20 =15 =10 -5 (1] 5 10 15 20
difi_bpmdaYium

2000 —

1000

=1000 —

=2000 —

1.:II..I::"::"::IIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

t ‘postpan.png

20000 —

10000 —

10000 —

20000 IR

_I 1 1 | 1111 I 1111 | 1111 | 1111 I 1 111 | 1 111 | 11
~150 -100 -50 O 50 100 150
diff_bpm12X/um

20000

15000

10000

2000

=5000

10000

15000

20000

=
IIIIIIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|III

padvaa by b by v b g by aa gl
=150 -100 =50 0 50 100 150
diff_bpm12Xium

8000

6000

4000

2000

= 2000

=4000

~6000

~8000

=
IIIIIIIIIIIIIIIIII|III|III|III|III|III

pr v bvvra v v b rra bvre vl
180 =100 =80 (1] B0 100 180
difi_bom12X/um

2000 —

1000 —

=1000 —

=2000 —

Dol by by b b by g b
~3000 -150 -100 =50 (1] 50 100 150
diff_bpm12X/um



reg_asym_sam

reg_asym_sam

reg_asym_sam

reg_asym_sam

run7895 000 re

2500

2000

1500

1000

500

=500

=1000

=1500

=2000

~
=
=

1500

1000

500

1]

=500

=1000

=1500

=2000

-2500

=3000

-80 -60

=40 =20 0 20 40 60 8D 100
diff_bpmXum

=100 -80 -60

1000

500

=500

=1000

-40 =20 0 20 40 60 BO 100
difi _bpm1Xum

100 -80 -60

| 200

L 1]

=100

- 200

=300

-40 =20 0 20 40 60 BOD 100
diff_bpm1Xum

=100 -80 -60

~40 -20

oression 'reg samn

20 40 60 80 100

2500

2000

1500

1000

500

- 500

=1000

=1500

=2000

1500

1000

500

- 500

=1000

=1500

=2000

-2500

=3000

20 <15 -10 -5 1]

5 10 15 20
diff_bpmda¥ium

20 <15 10 -5 1]

1000

500

=500

=1000

I 200

e

100

=100

- 200

=300

5 10 15 20
diff_bpmda/um

20 <15 10 -5 1]

5 10 15 20
diff_bpmda¥ium

_IIIIIIIIIIIII | |
20 15 -

iff_bpmdeX

2500

2000

1500

1000

500

=500

=1000

=1500

= 2000

100
diff_bpmdeX/um

1500
1000

500

=500

=1000

=1500

=2000

-2500

c v by vy by oy v by 1y
~3000 =100 =50 o 50 100

diff_bpmdaX/um

1000 —

500

500 —

=1000 [~

~100 _50 0 50 100
diff _bpmdeX/um

| 200

P00 -

=100 [~

-200 —

~300 —

50 100

~vS diff bpm-sca

t

1

2500

2000

1500

1000

500

-500

= 1000

=1500

= 2000

I
M
=

1500

1000

500

-500

= 1000

= 1500

= 2000

= 2500

15 10 -5 0 5 10 15 20
diff_bom4eY/um

=3000

S00 -

500

= 1000 [

-15 =10 =5 0 5 10 15 20
diff_bpmday/um

| 200

L T

=100

-200

~300

1E 10 -5 0 5 10 15 20
diff_bpmdaY/um

-20

10 -5 0

postpan.pnge

2500

2000

1500

1000

500

-500

=1000

=1500

= 2000

1500

1000

500

-500

=1000

=1500

=2000

-2500

=3000

=150 -100 =50

I
0 50 100 150
diff_bpm12X/um

1000

200

-500

=1000

I 200

e

100

=100

- 200

-300

=150 100 =50

I
0 50 100 150
diff_bpm1 2X/um

=180 100 =50

I
0 50 100 150
diff_bpm12X/um

=150 -100 -50

I
0 50 100 150
diff_bpm12X/um



asym_sam1

asym_sam3

asym_samd

asym_sam’7/

run7895 000 r

— 400
1500 ™
N — 35
1000 |
- —30(
500
- —og(
of
- 200
_500
- 15(
~1000 - 100
~1500 |
- M >0
E‘DDD _I 11 | L 11 | 111 | 111 | L1l | 111 | 111 I 111 | 111 | 111 D

=100 -80 -60 -40 -20 0O 20 40 60 80 100

diff_bpmXum

diff_

- —
15000 [-m
N —12
10000
—101
5000 |-
- —80(
of
Z BOC
-5000 |-
[ 400
10000 |-
: 200
15000 |-
oo v b b boaa b bova b boaa oy

1]

-100 -80 -60 -40 -20 0O 20 40 60 80 100

difi _bpm1Xum

diff _

3000
2000 — 200
B |
1000
Z —15¢
C n
o
C 100
1000 |-
_op00 - M 50
'H N
3000 "
o b b b b b v b bra b o
100 -B0 -B0 -40 -20 O 20 40 60 8O0 100
diff_bpm1Xum
djfL
:. —
" —1ac
4000
000 —{12(
2000
- —10c
1000
- BOC
0
-1000
-2000
-3000
-4000
E.DDD_Illllllllllllllll III|III|III|III|II
100 -B0 -B0 -40 -20 20 40 60

1500

1000

500

- 500

=1000

=1500

=2000

10000

5000

~5000

10000

15000

-20

-15

=10

5 0 5 10 15 20
diff_bpmda¥ium

—25(

—200

—15(

100

|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I 0

23 -15 -10 -5 0 5 10 15 20
diff bpmda¥ium
difL
3000 —
B e [
2000
C —50(
mnn:—
of
~1000 |
. 200
~2000
- 100
- m
-3000
o bbb breea b b v b b 0
30 -15 -10 -5 0 5 10 15 20
diff_bpmda¥ium
-
: —zac
4000 —22(
- —18(
2000
- —18c
1000
" —1ac
oF
-1000
~2000
~3000
~4000
DD:III|IIIIIIIII|IIII|II

-2

15

10

egression -a SVl‘l’l SAlll

1357 vs

! . [lf l

N —|450 N —|a5¢

1500 ™ —anc 1500 |
. n —a0c

1000 | —135C 1000 |F
N n —{25(

N — 300 =

500 — 500 —
- LT 20(

o o

: 201 15¢

=500 — =500 —

- 15( -

. n 100
~1000 ~1o00 |

- 100 -

- o 50
~1500 | 0 ~1500 |
_E_DDD_IllIII|IIII|IIII|IIII|II ﬂ _E_DDD_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

- 100 50 ) 50 100 =20 -15 10 -5 0 5 10 15 20
diff bpmdeX/um diff_ bpmdeYium

B I | _EEE
15000 (- Ly 15000 [-

10000 | 3¢ 10000 [ oo

- - .

5000 —{100 5000 - g
N [ —{15(
ol BOC o ®

B B [ |
-5000 |- -5000 |- .: 100
10000 10000

N B D

N - -

15000 | 15000 [~ E o

_IllIII|IIII|IIII|IIII|II _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII D

100 50 ) 50 100 26 -15 -10 -5 ) 5 10 15 20
diff bpmdeX/um ditf_bpmdeYium
diff diff _bpmdeY
3000 — —{25( 3000 -
. . —&0e
2000 2000
0 —|=200 C —sir
1000 1000 |-
B B —{40(
B 150 i
o O

_ [ 00
~1000 | 10t 1000 |

. _ 200
~2000 [~ <0 ~2000 [~

Z - 100
=000 - I = 3000 =

HFEEEEEE NN N 0 o e b b b bvnaa v b o

~100 50 ) 50 100 23 -15 -10 -5 0 5 10 15 20
diff_bpmdaX/um diff_bpmdaY/um
diff _ diff _ hpméleY

: . —25(

4000 —14( 4000 - n
3000 ;— yar 3000 — —{20
C - u
2000 F 0F m
= —{100 C nm
1000 £ 1000 —{15(
oF 80 oF
~1000 | G0C ~1000 | m 100

- C m
~2000 ~2000

n 400 - -.

-3000 ~3000 50

- 200 - |
~4000 ~4000 = =

- - m "m u

[ _|||I|IIII|IIII|IIII|IIII|IIII|IIII|IIII

=500

BInCOL

15 10 -5

u —o5g

1500
1000
- —|200
500
of
_500
-
~1000
E 50
~1500
[ [ |
_E_Dnn_lII|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ
150 -100 -50 O 50 100 150
diff_bpm12X/um
difL
15nnn:—
B —{25(
10000 [~
=000 - —onr
of
-EI}DD:—
[ m
10000 [~
B 50
15nnn:— n
_III|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ
150 -100 -50 O 50 100 150
diff_bpm12X/um
d'
- —24¢
3000 —
_ —zar
2000 - —[20C
B —{18(
mnn:— —18(
oL ®
:l
1000 |
~2000
: n n
~3000 — |
vttty e br o b
“150 -100 -50 O 50 100 150
diff_bpm12X/um
-
4000 — —25(
aooo
2000 P
1000 |
oF
-1000
~2000
- =
~3000 |- 50
~4000
_III|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ

" postpan.png

=150 -100 -50 0 50 100 150

diff_bpm12X/um



reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run7895 000

regré§§ 0

| 200

Y100

=100

- 200

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

III|III|III|III|III|III|III|III|III|I
=100 =80 -0 40 =20 0 20 40 60 B8O 1{:0
diff_bpmXum

~300

2000

1000

=1000

=2000

=3000

III|III|III|III|III|III|III|III|III|III
-100 -80 -60 40 -20 O 20 40 60 B0 100
difi _bpm1Xum

:
E

400

200

=200

=400

-600

prr b tvrr b bvrn bers v beaa braa e
=100 80 -80 -40 20 O 20 40 80 B0 100
diff_bpm1Xum

| 400

200

- 200

- 400

b b baaabeag Lol
00 -80 - ‘] 20 40 80 100

22(

200

18(

160

45(

400

a5(

50

1]

221

200

180

160

20

o

300

250

200

150

100

300 —125¢ 300 - —oor
- N X man
C C —120C
200+ 200 -
- —200 - —18¢
| - | - —18(
100 - b
C 15( C 1
o W of .
i i
: 100 :
~1pp- 100 |-
o0 00
- . 0 - m
B u B
_apo - r _ap0 |- r 20
-III|IIIIIIIIIlIIII|IIII|IIII|IIII|IIII|IIII|I ﬂ -I|IIII|IIII|IIII|IIII|II ﬂ
20 -15 -10 -5 © 5 10 15 20 ~100 50 ) 50 100
diff_ bpmdaYium difi_bpmdaX/um
l ! . [bf
B —|a5c B — _
- - . 500
2000 N 2000 [
_ —ag( _ —40(
1000 |~ 1000 |-
- N
- - 300
b o
_1000 _1000
- C 300
2000 - _apon
N 1ot N 100
o 50 [
~3000 - =3000 - n
_III|IIIIIIIIIlIIII|IIII|IIII|IIII|IIII|IIII|I {' _I|IIII|IIII|IIII|IIII|II ﬂ
20 -15 -10 -5 © 5 10 15 20 100 50 ) 50 100
diff bpmdaYium difi_bpmdaX/um
diff_ bpm4aY  diff _bpmdeX
| | —25¢
[ —|25¢ [
400 400 —{z00
! - ' - = —18¢
: B — 200 ' B
| 200 | 200 | o Py
- - 140
ol ok
150
: - 120
~200 _200 - 100
i 100 i a0
—400 - 400 - &0
- 50 - 40
600 |- 600 |- .« =
cor b b b bor b b b b 0 1 R N T T N T T N N I M A A A I A A B 0
30 -15 -10 -5 © 5 10 15 20 ~100 50 ) 50 100
diff_ bpmdaYium difi_bpmdaX/um
600 — - — 35 so0 — I
- —anc
i —anr
| -‘H}D_ | -‘H}D
. i , —agg
| - _EEt |
i Yoaon
- 200
ol 0
- 15(
- 200 ~200
- 100
~400 0 ~400

'"ﬁmreg_sa'%'igﬁ “vs diff’

300
. —25(
. 200
‘ - —20(
| I |
P00 -
- 15(
o ®
T 100
~200- g -
; = "
=300 |
-IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII 0

20 -15 -10 -5 0 5 10 15 20
diff_bom4eY/um

daft_
—45(

| I
- |
- u —{40t
2000 |-
B [ | —a&[
1000 |-
i [ |
o B
- [ ]
i [ |
-H}DU_—
B [ |
~2000 |
B 50
-E'DDU_ =
G bv v brvs by b b bvaraa ban g 0
20 =15 =10 -5 (1] 5 10 15 20
diff _bpmdeium
: —2&(
400 —
T —200
200
_I L
= 15(
2001 100
400 —
= 50
~B00 —
: |
EEEEEEEREEEENE NN NN NN NE NN R R RN NN RN o
20 =15 =10 -5 (1] 5 10 15 20
difi_bpmdaYium
diff bpmdeY
I
600 = m —asc
. 400 |- —{30(
] B —25(
200
ﬂ_
=200 -
400 —
&00 ol b s b bena Lo Ly

LLZ postpan:png

B —
E-DEI_— —22(
[ —2p
L2 —{180
| B —16(
100
of
L m
100
:l
~a00
_apn n
-I||||||||||||||||||||||I||||||||||||
“150 -100 -50 O 50 100 150
diff_bpm1 2¥/um
-
B —
B ] —{400
2000 - - "
- —las(
1000 | aor
B ]
b
B ]
_1000
[ m
B |
2000 |
— n
- 50
~3000 | i
|||||||||||||||||||||||I|||||||||||| ﬂ

=150 100 =50 0 50 100 150
diff_bpm1 2X/um

diff _
—24(

i 2z
40 —200
| R
o0 — 18
200 —
] - —{18(
=200
i [ |
=400
00
: - 20
per v bvrvr v rr berra bvre s br b 0
180 =100 =80 (1] B0 100 180
difi_bom12X/um
difL
600 —

B — 300
| 400 —og¢
.I -

2001 —lap(
D_
- 200 —
400 —
i [ |
—E-'DDIlllllllllllIlllllllllllllllllllllll 0

=150 -100 -50 0 50 100 150
diff_bpm12X/um



asym_sam1

asym_sam3

asym_samd

asym_sam’7/

run7895 000 re

1500

1000

500

=500

=1000

=1500

%

bpm1X

- 22/ ndf 47.94 [ 42

s “**Lm p0  0.9646 + 1.3197

E !

- o1 _14.46 + 0.07

E #ﬁhﬁ

— HJ{L

3 e

_l | | | | | | | | | | | | | | | | | |- | I
=100 =5 0 B0 100

15000

10000

5000

=5000

10000

15000

diff_bpm1X

- N y2/ndf  53.48/ 42
i e
N p0 4.225 +2.723
5 ’ o1 ~156.9 + 0.2
:_ +++*=+
L H
N # 1
: | | | | | | | 1 | | | | | | | | 1 | _I I

=100 =50 i 5O 100

dlthpmlL

%2 / ndf 42.65 /42
p0 -1.255 + 3.849
pl 14.79 + 0.20 J,,Hji}#‘J}
o
“1000 | % HI:W
R
=200 ;' i
i AN N T T N A TN TN Y AN T TN N T N TN SN SN
=100 =50 (1] 50 100

4000

3000

2000

1000

1]

=1000

=2000

=3000

=4000

diff_bpm1X

3 . ¥2/ndf  56.79/42

n tar,

= . p0 0.275+0.732

5 ) pi -48.39 £ 0.04

3 S

C *,

:— -1

u 11 | 11 1 I 11 11 | 1 1 1 -I I
—IQD 100

1000 — _ _ HI{M
wb |

¥?/ndf  25.36/38

p0  -3.461+1.894

p1 -55.4+0.5
#4

K

20 <15 -10 -5

°1

5

iff bpmdaY

10 15 20

Z } %2/ ndf 27.02 /38
B000

Z p0 -40.75 + 22.75
4000 - -1

- I MI p1 -132.8 £ 5.6
2000 ~ Al }Hﬁ

u:— +
-zmn:— I&H]l - |
-mnn:— }
-EI}DD:—

—III|IIIIIIIIIlIIII|IIII|IIII|IIII|IIII|IIII|I

20 -15 -10 -5 5 10 15 20

diff_bpmdaY

diff_bpmdeY

s00F " | ¥2indf  46.12/ 41 ; ¥2 / ndf 40.2 /38
. +*HHH+ 00 1.031+1.313 1000 - + H}L p0  —4.048 + 1.891
- e B H‘~ H#
- " i
oF p1 ~12.2+0.1 soof- F p1 —64.24 +0.54
of ol
-500 | [
B =500
Hy L
- H i Wi
1000 | +|:|-|_|+ - I‘IHH
C I - =1000 [~ Ju[ -
~1500 | J'+' - -1
:I 1 I 1 1 1 1 | 1 1 1 | L1 1 1 | L1 1 1 | 1 1 1111 | 1111 | 1111 | 1111 | 1111 | 1111 | 1111 I_I 111
=100 =50 o 50 100 =0 =15 =10 =5 L] 5 10 15 20

diff_bpmdeX

15000 |- . %2/ ndf 2 66 / 41 8000 |- ¥2 [ ndf 38.95/ 38
N -
10000 |- e p0 4,746 + 2.794 el S p0 -44.91+ 22.69
- B B so00f - B
5000 [ p1 132.1+ 01 - 1 } { p1 171+ 6.5
- 2000 |- h+ ,
of u:— - T _
: : Mt | |
5000 |- -2000 J“[ N
: ., ~4p00 |- {
10000 - e -
B ﬂu;- ~B0O00 }- o
15000 [ - . -
11 I 11 1 1 | 11 1 1 | L1 1 1 | L1 1 1 | 11 —B‘DDD 111 | 1111 | 1111 | 1111 | 1111 | L1 11 | L1111 I L1111
100 50 0 50 100 20 15 10 &5 0 5 10 15 20

dlthpméﬁL

diff_bpmd4eY

¥2 ! ndf 22.34 /38 12/ ndf 42 .56 / 41 ¥2 ! ndf 30.14 /38 i
- - ; I'
p0 3.168 + 1.658 ﬁ' p0 -1.541+£ 3.939 i} p0 4124 £+ 1.682 #}Jr#r
oy ) R
p1 1438+ 0.4 pl 1259+ 0.16 M p1 165.7t 0.5
i u j#H J ) N
ﬂ; ok o
~1000 [ i ; ~1000 [
. # ~1000 - +“ ]ITJ'J‘ i i
~2000 [ #IH# i +I|H ~2000 [ ' ir;#ﬂ
E . - 2000 :— | C - r”rjr
~3000 :I||||r||||||||||||||||||||||||||||||||| il [ ; N T T T T T N T A A N O O N B 3000 = v b b berae biroa by s b
20 -15 -10 -5 5 10 15 20 ~100 _50 0 50 100 20 -1 -0 -5 O 5 1 15 20
diff _ diff_bpmd4eX diff_bpmdeY
- ¥2/ndf  26.96/38 2000 L ¥2/ndf  29.48/41 : x?/ndf 37.86/38
2000 - - -
I p0 -13.66 £ 6.95 o0 p0 0.443 £ 0.673 2000 1~ B p0 -149+6.9
1000 - M p1 —48.77 £1.72 2000 |- ) p1 -40.77 + 0.03 1000 [ { pi -62.2 £ 2.0
E ! ][ﬁh,r 1000 - [ 4] }Hﬂ}‘r
of oF of + -
: #IH ~1000 |- I + *JUJM }
1000 |- ]‘ | - 2000 z— ) ~1000 — N_-
i } =3000 é' qah [ “ 1
5000 B 4000 ;_ "II* - 2000 _— _
. | | 1 1 1 1 | 1 1 1 1 B | | 1111 | 1111 | 1111 | 1111 | 111 I | 111 I I-I 11 I

sam1357 vs diff bpm

2ressmn asym sam

“fit

- postpan.png

diff_bpm12X

%2 / ndf 55.24 / 42
p0 ~-3.185 + 2.154
p1 4.832 + 0.060

1]

-500

=1000

=150 =100  -50

dlthpm12X_

1]

¥2 [ ndf 56.07 /42
po -38.41+17.54
p1 58.07 £ 0.49

ol
~5000 [ {L ,r{brm
mnnn_,— ] }

50 100 150

=180 =100 -50

"-"1

200

~500

=1000

iff bpml12X

o

50 100 150

%2 / ndf 56.21 / 42
p0 3.542 + 4.384
p1 -3.949 + 0.122

f

=180 -100  -50

dlthpm12L

o

¥2/ndf 5727742
p0 -12.86 + 5.45
p1 17.6+0.2
1000

0
= 1000

= 2000

=3000

50 100 150

=150 =100  -50

1]

50 100 150




reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run7895 000 reg

diff bpm1X

¥Z { ndf 48.4 /42
pO 0.2392 + 0.4411

p1 0.02706 + 0.02255

|W {NH{WHHH

=100 —

=150~

=100 -50 0 50

100

diff_bpm1X

¥2 / ndf 48.44 [ 42
po 4144 + 2 568

p1 0.1046 + 0.1478

Tl

I

|

diff_bpmdaY

%2 [ ndf
po

p1

41.65/38

0.0634 + 0.4445 h '

Wﬂ;wrrw }

0.067 £0.111

-50

00 T

-150:—

200 -

-EED:r|||||||||||||||||||||||||||||||||||||||_|||||

o I

20 <15 -10 -5 1] 5 10 15 20

diff_bpmd4aY

¥2 / ndf

pO

41.58 /38

2.651 £ 2,759

<1000 -
I I T T AN T TN NN M AN TN MO M N N A |- |
=100 =50 i 5O 100
‘,:{ ¢ naf 28.64 / 42
E[?D —
i pO 1.31+ 0.86
100 - Pl —0.05462 + 0.04378
- |
ol WW{'WMW y ||H1H k
=100 —
=200 -
' T N T N NN T NN T N T NN N AN NN NN N
=100 =50 i 50 100

diff_ bpml1X

¥ ndi 49.47 [ 42
p0 0.114 + 0.631
p1 0.002148 + 0.034761

100 F

-mn:—

- 300 —

d ww-ﬁwﬂ‘ﬂ

|

100

200
-mnf—
_ﬁunf—
—EH}Df—
~1000 —

-1200

-140[]:r|||||_|||||||||||||||||||||||||||||||||||||||

p1 0.06428 + 0.68591 'H+
: ‘ |W|rfff'ﬂ e T’M

20 <15 10 -5 1] 5 10 15 20

00—
200 —

100 —

=100 —

2 I ndf 31.58 /738
p0 0.6809 = 0.8681
pl  -0.1525+0.2182

:

-_ ‘!H{““ presesh|

+

20 <15 10 -5 1] 5 10 15 20

diff_bpm4aY -

¥ ndi

po

o

40.78 / 38

—0.2345 + 0.6597

“S0F

~100
~150 |
~2o0 |

~250 | —

0.001446 + 0.163834 " |+H1‘~J

|‘||'I

‘H} 15 E{?

diff_bpm4eX

1 { naf 4229/ 41

pO 0.2321+ 0.4415

p1 0.02319 + 0.01904

50 H }

100

150 |

300 - _

_|||||||||||||||||||||||||

100 _50 0 50 100

¥ 2/ ndf 35.3 /41

p0 4.216 + 2.570

p1 0.02913 £ 0.12451

e ’““‘“‘H}N

diff_bpmdeY

¥Z { ndf 33.77 /38

pO 01516 + 0.4447

p1 0.07397 + 0.12807

| — W

Tl

S0 T

150

20 =15 =10 =5 0 5 10 15 20

diff_bpmdeY

¥ [ ndf 48.55/ 38

po 2796 + 2.757

p1 0.1269 + 0.7926

=500 —
~1000 | {
~1500 |
=200 PSSR TN TN T N T T N MO A _| L1
=100 =50 (1] et 100
¥% / ndf 44.04 / 41
200
i p0 1.256 + 0.864
100 B p1 —0.05591 + 0.03692

) |
W +*+M””}>*{wi

=100 —
200 - |‘
I T T T T T T T T I O O O A O
=100 =50 1] 50 100
400 };" { naf 29.95 7/ 41
B pO 0.1317 £ 0.6306
00 N
- p1 —0.01019 + 0.02928
200 |- ’
100 |-
- f s i ﬂ
ﬂ L | L
100 :— |
TR T A TN A A A

dlff “bpm ﬁfpostpan png

o - J thWﬂJW

20 =15 <10 =5 0 5 10 15 20

diff_bpmdeY

300 w2 { ndf 28.05/ 38
N po 0.6097 + 0.868G
200 ~
pi —0.323 + 0.253
100 —

oo

200

20 <15 <10 -5 0 5 10 15 20

diff_bpmdeY

¥ ndi 43.73/38

pO -0.1452 + 0.6588

p1 0.03221 + 0.18855

) (AN *HH-_
ki

20

diff_bpm12X

1{?D
2% ¢ nadf 42 82 742
i pl 0.2476 = 0.4433
5'} | —
i ] H { el ~0.0006141= 0.0124975
- ‘

¥ MWWWW

=100 —

-15D|_||_||||||||||||||||||||||||||||||||||
=150 =100 =50 0 30 100 150

diff_bpm12X

1000 [ %2 { ndf 31.09/ 42
PO 3.035 £ 2.702

00—
! p1  —0.0231£0.0805

of | hﬂ*%ﬁww Hw

b 1

=1000 —

‘I‘III|IIII|IIII|IIII|IIII|IIII|IIII|II

=180 =100 -50 1] 50 100 150

diff_bpm12X

%2 / ndf 48.42 [ 42
pO 1.084 + 0.866 |
P1 0.017140.0242 } o *umf
: lHTIT 1 }
50 H k}
-mnf—
-1503—
-Eﬂlﬂf—
—EED:—
oo b b e b v b g

=180 -100  -50 1] 50 100 150

2 | ndf 37.06 / 42
200

pD —0.2957 + 0.6504
WoE p1  —0.00704 + 0.01907

il

=100 — ) {

200 —

=150 =100  -50 1] 50 100 150




asym_sam

asym_sam

asym_sam

asym_sam

run7895 000 r

1500

1000

500

=500

=1000

=1500

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

E‘DDU II|III|III|III|III|III|III|III|III|III
=100 =80 -0 40 =20 0 20 40 &0 80 100
diff_bpmXum

15000 —.

T
-

10000

5000 -

=5000 [~

10000 [~

15000 [~

-100 -80 -60 -40 -20 0 20 40

3000 —

2000 -

1000 -

=1000 -

<2000 -

=3000

IR AN NN FER A RN NN

=100 80 -60 -40 =20 O 20 40 60  BD 100
diff_bpm1Xum

. ! . ff
u — u
o0 | 4000 |-
3000 - 3000 |-
2000 — 2000 —
1000 1000
~1000 |- _1000
_2000 |- _2000 |-
_3000 |- _a000 &

4000 |- 8 _4000 |- '

|||||||||II|III|II|||||||||III|III|II
-5000, 5 R 60 40 20 @0 20

1500

1000

500

- 500

=1000

=1500

=
IIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIII

II|IIIIIIIIIlIIII|IIII|IIII|IIII|IIII|IIII|I
20 -15 -10 -5 0 5 10 15 20
diff_bpmda¥ium

=2000

15000

10000

5000

~5000

10000

15000

bl e b s by b L 1y
-20 =15 =10 =5 0 5 10 15 20
diff_bpmda¥ium

3000 =

2000 —

1000

=1000 =

2000 -

=3000
c b bevre by b b v beva Fvraa
=20 =15 =10 =& 1] 5 10 15 20
difi_bomdaYium

egsression-asvm "ﬁﬁ'ﬁﬁﬁﬁ% VS

1500

1000

500

-500

=1000

=1500

= 2000

10000

2000

~5000

10000

15000

3000

2000

1000

=1000

= 2000

=3000

4000

3000

2000

1000

=1000

= 2000

=3000

=4000

=500

100
diff_bpmdeX/um

=100 -50 1] 50 100
diff_bpmdaX/um

~100 _50 0 50 100
diff _bpmdeX/um

1500

1000

500

=500

= 1000

= 1500

= 2000

20 =15 =10 =5 0 5 10 15 20

15000

10000

5000

= 5000

10000

15000

diff_bom4eY/um

20 =15 <10 =5 0 5 10 15 20

3000 -

2000

1000

=1000

= 2000

= 3000

diff_bpmday/um

20 <15 <10 -5 0 5 10 15 20

4000

3000

2000

1000

1]

= 1000

= 2000

=3000

=4000

5000

iff” bpm=scat post]

diff_bpmdaY/um

pan.png

1500

1000

500

-500

=1000

=1500

=
IIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIII

1 1 | 1111 I 1111 | 1111 | 1111 I 1 111 | 1 111 | 11
~150 -100 -50 O 50 100 150
diff_bpm12X/um

= 2000

15000 [~

10000 [—

5000 —

=5000 —

10000 -

15000 [~

ol by by s by by by Iy
=150 -100 =50 0 50 100 150
diff_bpm12Xium

3000 =

2000 —

1000

=1000 =

2000 -

=3000
EEIEEENEEEEEENEENE NNl EEE N AN NN
=150 =100 =50 i 50 100 1580
difi_bom12X/um

4000

3000

2000

1000

=1000

= 2000

=3000

=4000

tialag |||.||| Lo b bvvr s b aaa by
=5000 -150 -100 =50 (1] 50 100 150
diff_bpm12X/um




reg_asym_sam

reg_asym_sam

reg_asym_sam

reg_asym_sam

run7895 000 r

300 —

| 200

o100 -

=100 =

-200 —

-IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
=100 =80 -0 40 =20 0 20 40 60 80 100
diff_bpmXum

2000 —

1000

=1000 —

2000 —

=3000 —

_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
-100 -80 -60 40 -20 O 20 40 60 B0 100
difi _bpm1Xum

300

| 200

o100

=100

=200

=300

2000

1000

=1000

=2000

=3000

20 -15 -10 -5 0 5 10 15 20
diff_bpmda¥ium

20 <15 10 -5 1] 5 10 15 20
diff_bpmda/um

L] !.‘IT‘T
B I |
400 — 400 —
| - | [
200 — 200
;2oL PO
o ok
200 =200
~400 - =400 —
00 — 00
ol b bra bean beoa bvra Lo baeaa b Lol b bvvs b b Lo b b
=100 80 -80 -40 20 O 20 40 80 B0 100 20 =15 10 =5 1] 5 10 15 20
diff_bpm1Xum diff_bpmdaYium
[ ] L 1
I I
e00 — 600 —
|-‘|-'I:I'I:|_ i} |-‘|-'I:I'I:|_
] i ] B
200 — 200
o ' ol
200 ' 200
_mn B . .- ._. ...-. . - _mn | ..-'

B0 b b b beag b b baa Loaa Lo
—[II{ID -80 -60 -40 -20 20 40 60 80 100

- 600

sressionmr -reg saml1357-vs

300 —

| 200

o100 -

=100 =

-200 —

-300 —

2000 —

1000 =

=1000 —

=2000 —

=3000 —

50 100

diff_bpmdeX/um

400

200

200

400 —

600 —

50 100

diff_bpmdaX/um

600 —

|-‘|-'I:I'I:|_

200

-200 —

-400 —

50 100

diff _bpmdeX/um

dif

300

| 200

Y100

=100

- 200

~300

=20

2000

1000

= 1000

= 2000

= 3000

200

=200

=400

-600

600

| 400

200

- 200

- 400

- 600

15 10 -5 0 5 10 15 20
diff_bom4eY/um

-15 =10 =5 0 5 10 15 20
diff_bpmday/um

1E 10 -5 0 5 10 15 20
diff_bpmdaY/um

-20

- postpan.png

300

| 200

o0

=100

- 200

- 300

2000

1000

=1000

=2000

=3000

400

200

=200

~400

- 600

600

| 400

e

200

- 200

- 400

- 600

I
~150 -100 -50 O 50 100 150
diff_bpm12X/um

I
=150 100 =50 0 50 100 150
diff_bpm1 2X/um

I
“150 100 -50 O 50 100 150
diff_bpm12X/um

I
=150 -100 -50 0 50 100 150
diff_bpm12X/um



